H-12-D
April 1980

A snack bar

_ MIAFITG  puilt of brick

Mo / [/~ Z" | orconcrete block

can be converted

into shelter.

The hinged canopy

can be tilted-down

for filling with brick

or concrete block.

HOME FALLOUT SHELTER
snack bar-
basement location o an

FEDERAL EMERGENCY
.75 MANAGEMENT AGENCY




2x 8 BEAM

BOLT TO WaLL 4

8-

38"

g'-53s4"
it B PR a2 7 B
|2 CONC BLkS

“5Pac

R 10

CE_FO . f .,
|6" CONG. BLKS 3-g10x3° WOOD SCREWS

--I"—ZKE

T”s TaG BOARDS !

I SPACE FOR
{i[*~ 5 CONC., BLOCKS —

38" ~=""- 2-6d x 2" RING SHANK
NAILS EA. BOARD
GLUE ALL JOINTS

FASTEN 2 8'S WITH

GLUE & 3-#10x 3"

WOOD CASE DETAILS

SCREWS AT EACH JOINT

===

T
4
-'—-3-2 STRAP HINGES WOOD CASE ISOMETRIG
PER CASE, 3#12 & | .
il (TYPIGAL) 3 CASES REQD g
PLASTIC LAMINATE APPLIED TO F'van% —-1-;—3"—-1~| gm"-—w 10"~ 1'-10"—
Wooo FASTEN 172" PLYWD 2x4— - T ;
e PLYWD WITH £ i | ]
H 22+
7 SCREWS FROM . A o . 7
ANCHOR SHELF UNDERNEATH —— A1 1/
ENDS WiTH | AU | !
CONG. NAILS ANCHOR BOL t - <
UNDER TRACK SET IN MORTAR Jomr N %
- 174" ¢ x 10"
N COUNTER TOP DETAIL ANGhoe SDLT PLAN OF GCOUNTER TOP FRAME
ADJUSTABLE —= HOLES
SHELVING
TRAGK
G PLAN DETAIL OF [ A-2 A
SHELF SUPPQRT "
| ;
I S (¢ = pp——— = e g - A Ty T
= . 2xa 7 EXISTING BSMT wnu_—/, f
2ri0x 3" WD SCREWS €4 JOIST ¢ TPOSTE— |
e m e — - — - ——THRU 2x4 BEAM I ~'MASY TO Masy = 10'-T 12" TR—

(-

[ / FI0 26" HOOK AND

| 4| WOOD CASE — SCREWEYES, 2 PEH CASE

2 |

2, 1

PROFILE — ———

H END WALL

=l —

w o~ STORE 320 BLKS ey

g £ FOR OVERHEAD

£ "7 MASS AND ENTRY

= roee| CLOSURE

e | |— COUNTER BASE

@

(=]

L=}

z VENTILATION HOLE
WOOo
BASE — —aff 100 A

BAR SEGTION A-.1

Y
H
‘? — ®I0 SCREWEYE
S ROPE TURN

1
3 CASES AT 36" = 106" — |
| .
1 @
| h
i w
1
DRY STACK 42 BLKS i |
TD GLOSE ENTRY " |
/- STACK_4 BLKS. ON GOUNTER i !
/ TO CLOSE SIDES 1x8 STORAGE

SHELF' ERnCI(ET . SHELVES ——,

4'-a"

o SEE DETAIL OF SUPPORT |

Ll

2'-7 12" e
BS5 BLKS = I1'-3 ve"——-

A-2 A=l

x]

144 ROPE

!IIO SCREW EYE T,

2<4 SJI.' \\_
STack 10 4"x8"x 18"/ \
CONC BLKS IN EA [ Y
SECTION ]
STACK 4 BLKS |
_ ON COUNTER f

PROFILE OF END \‘\‘-LL"\

FOSTS 367 TOCY #6 HOOK EYE

2ra k=
3- 33 4 TOGGLE BOLTS ' W~
MT WA N
83 Ll SHELWINGS -
DRY STACK 4% -
BLKS IN ENTRY © = !
C BLK PIFR "
BSMT FLOOR

SHELTER SEGTION A-2
.

Al
ANCHOR WALL - |
TO JOISTS F— |
WAMETAL STRAP
ANCHOIRS — .
d-0"c TG
4 @BLKS ON —
COUNTER ~
42 BLKS | 1
IN -
ENTRY —-I : ]
o ] [ -
1 [ - N R
T i R 1
4"y 358" MT F R [
VENTILATION HOLES & L0 |
L
SECTION 8

BSMT
WaLL



GENERAL INFORMATION

The principal [eature of this shelter is a sturdy wood overhead canopy which
serves as a part ol a pre—huilt snack bar in a4 bhasement recreation room,
Consisting of three units hinged to the back wall, the canopy can he lowered
to rest on the snack har in an emergency.

In basements where the level of the outside ground is ahove the top of the
canopy, adequate shelter from fallout radiation is provided for 5 people
when the canopy is filled with 8'" solid concrete block or brick.

The snack bar should not take more than 5 man-days to construct,

MATERIALS LIST

Actual
Item Number Required
Masonry:
4" x 8" x 16" solid concrete masonry units or 720 blocks or
2-1/4" x 4" x 8" solid bricks 4320 bricks
Mortar;:
prepared dry-mix bags 3 bags
Lumber: ("'Construction' or '"No, 1" grades or better)
posts 2 x 4 x 6'-10" 4 pieces
beam 2 x 8 x 10"-6" 1 piece
cases 2 x 8 x 8'-5-3/4" 6 pieces
2x8x8"-2-1/2" 3 pieces
2 x 8 x 3'-2-3/4" 6 pieces
2x8x1'-6-9/16" 12 pieces
1x6x3'-6"T & G boards* 60 pieces
Counter top:
edge frame 2 x 2 x 11'-3-1/2" 2 pieces
center frame 2 x 4 x 1-8-3/4" 7 pieces
2'x 11'-3-1/2" x 1/2" plywood (good one side) 1 piece
Plastic laminate if desired
Shelving:
uprights 1 x 8 x 3'-4" boards 6 pieces
wood base 2 x 4 x 3'-2-3/4" stress-grade lumber 1 piece
2x4x2'-6-1/2" 1 piece
2x4x3'-3-1/4" 1 piece
shelves 1 x 8 x 3'-2-1/4" 3 pieces
1x8x2™-6" 3 pieces
1x 8x 3'-2-3/4" 3 pieces

*Square-edge boards may be used.



Hardware:

3" x 8" x 1/8" unfinished steel strap hinges 9
#12 x 1-1/2" wood screws, c.s. 72
3/8" diameter x 6" square head unfinished toggle bolts 16
6d ring shanked nails 4 pounds
#10 x 3" wood screws, c.s. 72
glue, protein emulsion (must develop 450 1bs. /sq.in.) 1-1/2 pints
8d finish nails 2 pounds
1/4" diameter x 10" square head unfinished anchor bolts 10
#10 x 6" steel hook and screw eye sets 6
#10 x 6' steel screw eyes 6

1/4" hemp rope, 80 lbs. test 12 feet

CONSTRUCTION SEQUENCE

1. Prepare wood canopy units.
a. Assemble units in accordance with drawings on sheet.2. -
b. Fasten hinges to hinge board with 1-1/2" #12* wood screws.
c. Locate and drill holes in basement wall to receive toggle bolts.
d. Bolt hinge board and posts to wall with toggle bolts.
e. Fasten the three wood canopy units to hinges with 1-1/2"
#12* wood screws.

2. Prepare snack bar and walls.
a. Lay up end wall and counter base using concrete blocks or
brick, building in anchor bolts for counter tops. Note drawings
show material for base as concrete block. Brick, however, can
also be used.
b. Assemble counter top frame.
c. Bolt counter top frame to counter base with anchor bolts.
d. Fasten plywood with plastic laminate to counter top.
e. Assemble wood shelves and supports.
f. Paint or varnish wood as desired. Use grain sealer for first coat.
Shelter is now ready for use when and if needed.

3. Assembly of shelter (emergency actions)
a. Unhock and lower canopy to counter top using rope.
b. Fill canopy unit with blocks or bricks.
¢. Occupy shelter and fill entry with blocks or bricks.

* Drill lead holes 5/32'" in diameter, 1-3/8" deep and shank lead holes
3/16" in diameter, 3/8'" deep.



